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Name: __________________________________



1
What is the solution of [image: image1.png]2(3%*4) = 56



?

	1)
	[image: image2.png]log;(28) -4





	2)
	[image: image3.png]




	3)
	[image: image4.png]




	4)
	[image: image5.png]log(56) _
Tog(®)








2
If [image: image6.png]


 then x equals

	1)
	[image: image7.png]




	2)
	[image: image8.png]




	3)
	[image: image9.png]log(3)+2






	4)
	[image: image10.png]1
H

(

logl2
Tog4

-2







3
If [image: image11.png]14



, where a, b, and c are positive, then t equals

	1)
	[image: image12.png]




	2)
	[image: image13.png]




	3)
	[image: image14.png]




	4)
	[image: image15.png]






4
The solution to the equation [image: image16.png]


 is

	1)
	[image: image17.png]




	2)
	[image: image18.png]In36






	3)
	[image: image19.png]In{3) -4





	4)
	[image: image20.png]






5
What is the solution to [image: image21.png]8(2°*%) = 43



?

	1)
	[image: image22.png]ng






	2)
	[image: image23.png]




	3)
	[image: image24.png]has
nie






	4)
	[image: image25.png]






6
The solution to the equation [image: image26.png]5%+



 is

	1)
	[image: image27.png]




	2)
	[image: image28.png]




	3)
	[image: image29.png]




	4)
	[image: image30.png]






7
The solution of [image: image31.png]872%% = 5918



, to the nearest thousandth, is

	1)
	0.583

	2)
	1.945

	3)
	4.220

	4)
	14.066



8
To the nearest tenth, the solution to the equation [image: image32.png]43002°27 ~ 123

000



 is

	1)
	1.1

	2)
	2.5

	3)
	6.3

	4)
	68.5



9
Which expression is not a solution to the equation [image: image33.png]2t = W10



?

	1)
	[image: image34.png]1
7log; 10





	2)
	[image: image35.png]log, /10





	3)
	[image: image36.png]log, 10





	4)
	[image: image37.png]logp4







10
Given [image: image38.png]a >0



, solve the equation [image: image39.png]x4l




 for x algebraically.

11
Solve algebraically for x to the nearest thousandth:  [image: image40.png]20749 _ 15





12
Solve [image: image41.png]3.801%




 algebraically for t to the nearest hundredth.


1
ANS:
1

[image: image42.png]log3™** = log28
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REF:
082306aii

2
ANS:
3

[image: image43.png]1092
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REF:
012517aii

3
ANS:
3

[image: image44.png]



REF:
011813aii

4
ANS:
4

[image: image45.png]o(2+*) =36
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REF:
082408aii

5
ANS:
1
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REF:
061702aii

6
ANS:
1

[image: image47.png]et i
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REF:
062207aii

7
ANS:
4

[image: image48.png]o3 _p 5918
e’ = In ez





REF:
081801aii

8
ANS:
2

[image: image49.png]43006°°7 = 5123
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REF:
012302aii

9
ANS:
4

[image: image50.png]log2" = log ~/10
tog2 = log A/ 10
log /10

Tog2




  2) [image: image51.png]L

Tog2



,  1) [image: image52.png]1

loga ~/10 = log, 10°




, 3) [image: image53.png]g, 10 =

log, 10

Tog,4

1
3log,10




REF:
012009aii

10
ANS:


[image: image54.png]



REF:
012326aii

11
ANS:


[image: image55.png]ne®* = In7.5
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REF:
062330aii

12
ANS:


[image: image56.png]



REF:
062426aii


